Philips Tasks w/c 20.4.20
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How much money does each child have?

order, scarting with the largest amounc
£685, €700, £698 ® 1030, £1126, €472, £1003
1408, £15'18, €146, £1480 (@ £1370, 2005, £1907. 2000

the notes and coins for the amounts spent.
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Choose from
these notes and
coins. List five

different ways
of making £20.
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1 ow much money does each child have. £0.€3

2 Round cach amount to the nearest pound.
(@ 6% ® 672 © £22% @
( £1909 o €134 (@ £1455

o

Round the prices to the nearest pound and estimate the total &
(@) Mousetrap and Battleships  (b) Battleships and 4 in-o-o8
(©) Mousetrap, 4 in-a-row and Battleships

(@ Mousetrap, Battleships and Beat-the-Clock.

4 Explain your answer each time.
Use the prices rounded to the nearest pound. Estimate if you:
(@) Beatthe-Clock and 4 in-c-row with a £10 note

(b) Battleships, 4 in-c-row and Beat-the-Clock with a £20
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& buys 3 different items
spends £2:90.
at could she buy?

mi buys 4 items altogether.
e spends between £9 and £10.
Vhat could he buy?

(@) £1:70 + B = £2:40 ®) £110+ M=
(0 £260+ M = £350 (@ £350+W=£5





